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(A)72 (B)120 (C)80 (D)150 (E) None of these

Q.HW :- In a school, age of 20% students is less than 8 years. The number of students
more than 8 years is 2/3 of the number of students of 8 years, while number of students of 8 
years is 48. What is the total number of students in the school?
एक विद्यालयमें 20% छात्रकीआयु 8 िर्ष से कम है। 8 िर्ष से अविकआयु के छात्रर ोंकी सोंख्या 8 
िर्ष के छात्रर ोंकी सोंख्याका 2/3 है जबवक 8 िर्ष के छात्रर ोंकी सोंख्या 48 है। विद्यालयमें छात्रर ोंकी
कुलसोंख्याक्या है?
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(A)40 (B)4 (C)10 (D)20 (E) 60

Q.1 :- A married couple has booked tickets in which there are six seats in row with an aisle 
separating them into two halves (i.e. 3 + 3). Given that the flight has 10 rows of seats. In how 
many ways, the tickets can be generated such that the couple get to sit together?
एक वििावहतजरडे ने विकिर ोंकी बुवकों गकी वजसमें एक पोंक्तिमें छः सीिें हैं, जर उन्हें दर बराबर
वहस्रों(यावन 3+3) में विभावजतकरती हैं। यह देखते हुए वक उडान में सीिर ोंकी 10पोंक्तियााँ हैं।
वकतनी तरीकर ों से विकि बनायी जा सकती हैं वजससे युगल एकसाथ बैठसकें ?
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(A) 800 (B)400 (C)1200 (D)1000 (E) None of these

Q.2 :- A business man gives 8 % commission to his sales executive on a sale of rupee 50000, if 
the total sale exceeds over 50000 the business man pays extra 4% to his sales executive as a 
bonus. If sales executive receives 5200 as his total earnings then find that he earns how many 
rupees as a bonus?
एकव्यिसायी 50000 रुपये की वबक्री परअपनी वबक्रीकायषकारीकर 8% कमीशन देता है, अगर
कुल वबक्री 50000 से अविकहर जाती है, तरव्यिसायीअपने वबक्रीकायषकारीकर अवतररि 4% 
बरनसका भुगतानकरता है। अगर वबक्रीकायषकारी अपनी कुलकमाई केरूपमें 5200 रूपये
प्राप्तकरता है, तर ज्ञातकीवजये वक िह बरनस केरूपमें वकतने रुपये कमाता है?
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(A)6.5%DEC (B)6.25%INC (C)25%DEC (D)10%DEC (E) None of these

Q.3 :- The average weight per student in class 6 is 18 kilograms. If 2 out of 32 students go 
away, then what percentage of average weight will be reduced? (Assuming average weight 
of left students is as before)
कक्षा-6 में प्रवत छात्रऔसतभार 18 वकलरग्राम है। यवद कुल 32 छात्रर ोंमें से 2 छात्र चले जाये तर
औसतभार वकतने प्रवतशतकम हर जायेगा? (यह मानते हुएकी शेर्छात्रर ोंकाऔसतभार पूिष
समान है)
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Directions (Q. 1-5):- Direction for Question

Study the following information carefully and answer the given questions:

Following pie chart 1 shows the total number of students in six different colleges and 

pie chart 2 shows the percentage of students in different streams in different colleges. 

(Stream's percentage is common for all the colleges)
वनम्नवलक्तखत जानकारी का ध्यानपूिषक अध्ययन करें और वदए गए प्रश्र ों के उत्तर दें:

पाई चािष 1 में छह अलग-अलग कॉलेजर ों में छात्रर ों की कुल सोंख्या और पाई चािष 2 में विवभन्न कॉलेजर ों में विवभन्न

शाखाओों में छात्रर ों के प्रवतशत का वििरण वदया गया है। (सभी कॉलेजर ों के वलए शाखाओों का प्रवतशत उभयवनष्ठ है)
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(A)405 (B) 428 (C)316 (D)224 (E) None of these

Q.1:- Find the average number of ME, CSE and AG students in JSS College?

जेएसएसकॉलेजमें एमई, सीएसईऔर एजीछात्रर ोंकीऔसतसोंख्या ज्ञातकरें?
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(A)320% (B)250% (C)370% (D)480% (E) 444%

Q.2 :- Total number of students in KIET College is approximately what percentage of total 
number of ME students in GLA College?
केआईिी कॉलेजमें छात्रर ोंकी कुलसोंख्याजीएलएकॉलेजमें एमईछात्रर ोंकी कुलसोंख्याका
लगभग वकतना प्रवतशत है?
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(A)356 (B)444 (C)228 (D)390 (E)None of these

Q.3 :-If the ratio of male and female students in Azad College is 3: 2 and the ratio of male 
and female IT students in the JSS College is 3:1, then find out the sum of total number of 
female students in Azad College and the total number of male IT students in the JSS 
College?यवदआजादकॉलेजमें पुरुर्औरमवहला छात्रर ोंका अनुपात 3: 2 है और जेएसएस
कॉलेजमें पुरुर्औरमवहलाआईिी छात्रर ोंका अनुपात 3: 1 है, तरआजादकॉलेजमें कुल मवहला
छात्रर ोंकी सोंख्याऔर जेएसएसकॉलेज में पुरुर्आईिी छात्रर ोंकी कुलसोंख्या ज्ञातकरें?
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(A)36 (B)45 (C)54 (D)72 (E)18

Q.4 :- Find the difference between the total number of AG students in GLA College and 
KIET College together to that of total number of EC students in JSS College?
जीएलएकॉलेजऔर केआईईिीकॉलेज में एजीछात्रर ोंकी कुलसोंख्याऔर जेएसएसकॉलेजमें
ईसी छात्रर ोंकी कुलसोंख्या के बीचकाअोंतर ज्ञातकरें?
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(A)12: 19 (B)4:7 (C)21:29 (D)1:1 (E) None of these

Q.5 :- Find the ratio between the total number of IT students in KIET College to that of 
total number of ME students in AIMT College?
केआईईिीकॉलेज केआईिी छात्रर ोंकी कुलसोंख्याऔर एआईएमिीकॉलेज के एमईछात्रर ोंकी
कुलसोंख्या के बीचकाअनुपात ज्ञातकरें?
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What should come at place of the question mark (?) in the following number series ?

11 . 0 , 6 , 24 , 60 , 120 , 210 , ?

(A)336 (B)349 (C)312 (D)337 (E)None of these

E04613
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What should come at place of the question mark (?) in the following number series ?

12 . 11 , 14 , 19 , 22 , 27 , 30 , ? 

(A)39 (B)34 (C)36 (D)35 (E)None of these

E04613
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What should come at place of the question mark (?) in the following number series ?

13 . 6 , 12 , 21 , ? , 48 , 66 

(A)33 (B) 31 (C)39 (D)36 (E)None of these

E04613

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

What should come at place of the question mark (?) in the following number series ?

14 . 18 , 22 , 30 , ? , 78 , 142

(A)44 (B)35 (C)46 (D)48 (E)None of these

E04613
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What should come at place of the question mark (?) in the following number series ?

15 . 22680 , 2520 , 315 , 45 , 7.5 , ?

(A)5 (B)6 (C)1.5 (D)3.5 (E)None of these

E04613
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Directions (Q. 16-20):- Direction for Question

Study the following line-chart and table carefully and answer the questions given 

below. Percentagewise distribution of the number of mobile phones sold by a 

shopkeeper during six years. वनम्नवलक्तखत रेखा-चािष और तावलका का ध्यानपूिषक अध्ययन

करें और नीचे वदए गए प्रश्र ों के उत्तर दें। एक दुकानदार द्वारा छ: िर्ों के दौरान बेचे गए

मरबाइल फरनर ों की सोंख्या का प्रवतशतिार वितरण।
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(A)153:119 (B)135:129 (C)129:135 (D) 119:135 (E) 135:119

Q.16 :- What is the ratio of the number of mobile phones sold by Samsung Company in the 
year 2012 to those sold in the year 2017 of the same company?
िर्ष 2012 में सैमसोंग कों पनी द्वारा बेचे गए मरबाइलफरनकी सोंख्या का उसी कों पनी के िर्ष 2017 
में बेचे गए मरबाइलफरन से अनुपात वकतना है?
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(A)10000 (B)9500 (C) 9000 (D)12000 (E) 10010

Q.17 :- What is the total number of mobile phones sold by Samsung Company in the year 
2013 and 2014 together?
िर्ष 2013 और 2014 में सैमसोंग कों पनी द्वारा बेचे गए मरबाइलफरनकी कुल सोंख्या वकतनी है?
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(A)659500 (B) 649050 (C)649500 (D)645900 (E) 649005

Q.18:- If the shopkeeper earned a profit of ₹ 433 on each mobile phone sold by Samsung 
Company in the year 2015, what was his total profit earned on the mobile phones of that 
company in the same year?
यवद दुकानदार ने िर्ष 2015 में सैमसोंग कों पनी द्वारा बेचे गए प्रते्यक मरबाइलफरन पर ₹ 433 का
लाभअवजषत वकया, तर उसी िर्ष उस कों पनी के मरबाइलफरन पर उसका कुल लाभ वकतना था?
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(A)120% (B)125% (C)130% (D)140% (E) 135%

Q.19 :- The number of mobile phones sold by Apple Company in the year 2012 is 
approximately what per cent of the number of mobile phones sold by Apple Company in the 
year 2017? िर्ष 2012 में Apple कों पनी द्वारा बेचे गए मरबाइलफरनकी सोंख्या, िर्ष 2017 में Apple 
कों पनी द्वारा बेचे गए मरबाइलफरनकी सोंख्या का लगभग वकतना प्रवतशत है?
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(A)1538 (B)1683 (C)1538 (D)1600 (E)1638

Q.20 :- If 35% of the mobile phones sold by Apple Company in the year 2016 were sold at a 
discount, how many mobile phones of Apple Company in the same year were sold without a 
discount? यवद िर्ष 2016 में Apple कों पनी द्वारा बेचे गए 35% मरबाइलफरन छूि पर बेचे गए, तर
उसी िर्ष Apple कों पनी के वकतने मरबाइलफरन वबना छूि के बेचे गए?
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Directions (Q. 24-28):-Direction for Question
Study the following table chart carefully and answer the questions given below

A company produces five types of shirts A, B, C, D and E, using cloth of three qualities-High, Medium 

and low, using dyes of three qualities-High, Medium and Low. One shirt requires 1.5 m of cloth. The 

following table gives respectively:

I. The number of shirts (of each category) produced, in thousands

II. The percentage distribution of cloth quality in each type of shirt, and 

III. The percentage distribution of dye quality in each type of shirt. 

वनम्न तावलका चािष का अध्ययन कीवजयेऔर वदये गये प्रश्र ों के उत्तर दीवजये।

एककों पनी, तीन गुणित्ता के कपडर ों-उच्च, मध्यमऔर वनम्न तथा तीन गुणित्ता की डाई- उच्च, मध्यमऔर वनम्न का उपयरग

करते हुये पाोंच प्रकार के शिष- A, B, C, D और E का उत्पादन करती है। एक शिष के वलये 1.5 मीिर कपडे की आिश्यकता हरती

है। वनम्न तावलका में इसका वििरण क्रमशः वदया गया है:

। उत्पावदत शिष (प्रते्यक शे्रणी) की सोंख्या हजारर ों मेंहै।

II. प्रते्यक प्रकार की शिष में कपडे की गुणित्ता का प्रवतशत वितरण, औरशिष का प्रकार

III. प्रते्यक प्रकार की शिष में डाई की गुणित्ता का प्रवतशत वितरण ।
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Directions (Q. 24-28):-Direction for Question
Study the following table chart carefully and answer the questions given below

A company produces five types of shirts A, B, C, D and E, using cloth of three qualities-High, Medium 

and low, using dyes of three qualities-High, Medium and Low. One shirt requires 1.5 m of cloth. The 

following table gives respectively:

I. The number of shirts (of each category) produced, in thousands

II. The percentage distribution of cloth quality in each type of shirt, and 

III. The percentage distribution of dye quality in each type of shirt. 

No. of shirts Distribution of cloth % Distribution of dye %

Shirt 
type

Number
(000)

Shirt 
type

High Medium low Shirt 
type

High Medium Low

A 20 A 80 20 - A 70 15 15

B 30 B 30 40 30 B 20 50 30

C 30 C - 70 30 C - 60 40

D 10 D - 60 40 D - 40 60

E 10 E - 10 90 E - 20 80
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(A)150000m (B)200000m (C)225000m (D)250000m (E) 304000m

Q.24 :- What is the total requirement of cloth?

कपडेकी कुलआिश्यकताक्या है?

No. of shirts Distribution of cloth % Distribution of dye %

Shirt 
type

Number
(000)

Shirt 
type

High Medium low Shirt 
type

High Medium Low

A 20 A 80 20 - A 70 15 15

B 30 B 30 40 30 B 20 50 30

C 30 C - 70 30 C - 60 40

D 10 D - 60 40 D - 40 60

E 10 E - 10 90 E - 20 80
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(A)22500m (B)35400m (C)46500m (D)60000m (E)40000m

Q.25 :-How many meters of low-quality cloth are consumed?

कम गुणित्ता िाले कपडे का वकतने मीिर प्रयरग वकया गया है?

No. of shirts Distribution of cloth % Distribution of dye %

Shirt 
type

Number
(000)

Shirt 
type

High Medium low Shirt 
type

High Medium Low

A 20 A 80 20 - A 70 15 15

B 30 B 30 40 30 B 20 50 30

C 30 C - 70 30 C - 60 40

D 10 D - 60 40 D - 40 60

E 10 E - 10 90 E - 20 80
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(A)8000m (B)12000m (C)24000m (D)30000m (E)35900m

Q.26:-How many meters of high-quality cloth is consumed by A-shirts? 

A-शिष बनाने में वकतने मीिर उच्च गुणित्ता िाले कपडे का उपयरग हुआ है?

No. of shirts Distribution of cloth % Distribution of dye %

Shirt 
type

Number
(000)

Shirt 
type

High Medium low Shirt 
type

High Medium Low

A 20 A 80 20 - A 70 15 15

B 30 B 30 40 30 B 20 50 30

C 30 C - 70 30 C - 60 40

D 10 D - 60 40 D - 40 60

E 10 E - 10 90 E - 20 80
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(A)2:3:5 (B)1:2:5 (C)7:9:10 (D)5:7:10 (E) CND

Q.27 :- What is the ratio of the three qualities of dyes in high-quality cloth?

उच्च गुणित्ता िाले कपडे में तीनर ों गुणित्ताकी डाईकाअनुपातक्या है?

No. of shirts Distribution of cloth % Distribution of dye %

Shirt 
type

Number
(000)

Shirt 
type

High Medium low Shirt 
type

High Medium Low

A 20 A 80 20 - A 70 15 15

B 30 B 30 40 30 B 20 50 30

C 30 C - 70 30 C - 60 40

D 10 D - 60 40 D - 40 60

E 10 E - 10 90 E - 20 80
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(A)9000 (B)12000 (C) 13500 (D)14000 (E)14060

Q.28:- How many meters of low-quality cloth is consumed by B-shirts?

B-शिष द्वारा वकतने मीिरकम गुणित्ता िाले कपडे का उपयरग हुआ है?

No. of shirts Distribution of cloth % Distribution of dye %

Shirt 
type

Number
(000)

Shirt 
type

High Medium low Shirt 
type

High Medium Low

A 20 A 80 20 - A 70 15 15

B 30 B 30 40 30 B 20 50 30

C 30 C - 70 30 C - 60 40

D 10 D - 60 40 D - 40 60

E 10 E - 10 90 E - 20 80
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Directions (Q. 16-20):-Study the following information carefully and answer the 

questions asked

The following table shows the population of three cities from 2013 to 2018 (in 

thousands) and difference of male and female population in same city. 

वनम्नवलक्तखत जानकारी का ध्यानपूिषक अध्ययन करें और पूछे गए प्रश्र ों के उत्तर दें वनम्न तावलका

2013 से 2018 तक तीन शहरर ों की जनसोंख्या (हजारर ों में) और एक ही शहर में पुरुर् और

मवहला आबादी के अोंतर कर दशाषती है।

Year Total Population
(Male + Female)

Difference of Population
(male − female)

A B C A B C

2013 120 100 50 0 40 30

2014 140 120 60 -44 40 30

2015 136 140 64 4 28 12

2016 156 136 70 -4 4 14

2017 180 156 80 -52 -4 0

2018 200 170 84 -88 -30 -12
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(A)180 (B)162 (C)160 (D)175 (E)None of these

Q.16 :- What is the difference between the females in City B from year 2013 and males from 
year 2015 (in thousands)?
िर्ष 2013 से शहर B में मवहलाओोंऔर िर्ष 2015 से पुरुर्र ों (हजारर ों में) के बीच वकतना अोंतर है?

Year Total Population
(Male + Female)

Difference of Population
(male − female)

A B C A B C

2013 120 100 50 0 40 30

2014 140 120 60 -44 40 30

2015 136 140 64 4 28 12

2016 156 136 70 -4 4 14

2017 180 156 80 -52 -4 0

2018 200 170 84 -88 -30 -12

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)25000 (B)30000 (C)22000 (D)28000 (E)None of these

Q.17 :- What is the average number of females in city C over the years except 2014 and 
2017?
2014 और 2017 कर छरडकर िर्ों में शहर C में मवहलाओों कीऔसत सोंख्या वकतनी है?

Year Total Population
(Male + Female)

Difference of Population
(male − female)

A B C A B C

2013 120 100 50 0 40 30

2014 140 120 60 -44 40 30

2015 136 140 64 4 28 12

2016 156 136 70 -4 4 14

2017 180 156 80 -52 -4 0

2018 200 170 84 -88 -30 -12
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(A)5: 7 (B)6:7 (C)8:7 (D)5:3 (E)None of these

Q.18 :-What is the ratio between the males from city A in year 2017 and females form city B 
in year 2015?
िर्ष 2017 में शहर A से पुरुर्र ोंऔर िर्ष 2015 में शहर B से मवहलाओों का अनुपात वकतना है?

Year Total Population
(Male + Female)

Difference of Population
(male − female)

A B C A B C

2013 120 100 50 0 40 30

2014 140 120 60 -44 40 30

2015 136 140 64 4 28 12

2016 156 136 70 -4 4 14

2017 180 156 80 -52 -4 0

2018 200 170 84 -88 -30 -12
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(A)40% (B)50% (C)60% (D)65% (E)None of these

Q.19 :- Total number of males from city A in 2017 is what percent more than the females 
from city C in 2017?
2017 में शहर A से पुरुर्र ों की कुल सोंख्या 2017 में शहर C से मवहलाओों की तुलना में वकतने
प्रवतशत अविक है?

Year Total Population
(Male + Female)

Difference of Population
(male − female)

A B C A B C

2013 120 100 50 0 40 30

2014 140 120 60 -44 40 30

2015 136 140 64 4 28 12

2016 156 136 70 -4 4 14

2017 180 156 80 -52 -4 0

2018 200 170 84 -88 -30 -12
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(A)71000 (B)69000 (C)75000 (D)72000 (E) None of these

Q.20 :-Males from city C in 2014 and females from city C in 2015 together is-

2014 में शहर C से पुरुर्और 2015 में शहर C से मवहलाएों एक साथ हैं-

Year Total Population
(Male + Female)

Difference of Population
(male − female)

A B C A B C

2013 120 100 50 0 40 30

2014 140 120 60 -44 40 30

2015 136 140 64 4 28 12

2016 156 136 70 -4 4 14

2017 180 156 80 -52 -4 0

2018 200 170 84 -88 -30 -12
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(A)4000 (B)4500 (C)3500 (D)7500 (E)None of these

Q.21 :- A and B started a business with initial investment in the respective ratio of 5:8. After 
four months from the start of the business, A invests Rs. 3000 more and after two more 
months B invested Rs. 1000 more. If ratio of profit share of A and B is 7:9 after a year, then 
what was A's initial investment? (in Rs.) A और B ने 5:8 के सोंबोंवित अनुपात में प्रारों वभक वनिेश के
साथ एकव्यिसाय शुरू वकया। व्यिसाय शुरू हरने के चार महीने बाद, A 3000 रुपये अविक वनिेशकरता है और दर
औरमहीनर ों के बाद B ने 1000 रुपये अविकका वनिेश वकया। यवद एक िर्ष बादA और B के लाभ वहसे् का अनुपात
7:9 है, तर A का प्रारों वभक वनिेश वकतना था? (रुपये में)

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

(A)1500 (B)3000 (C)2500 (D)2000 (E)None of these

Q.22 :- The strength of students at Mahendras is 8000. The number of boys and girls is 
increased by 15% and 20% respectively. As a result, the strength becomes 9350. Find the 
difference between the number  of boys and girls in Mahendras .
महेंद्रस में छात्रर ों की सोंख्या 8000 है। लडकरोंऔर लडवकयर ोंकी सोंख्या में क्रमशः 15% और 20% 
की िृक्ति हुई है। नतीजतन, ताकत 9350 हर जाती है। महेंद्र में लडकेऔर लडवकयर ोंकी सोंख्या के
बीच का अोंतर पाएों ।
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(A)30 (B)35 (C)36 (D)34 (E)None of these

Q.23 :- The average age of a family of 5 members was 28 years. 4 years later, the oldest 
member of the family died at the age of 60. On the same day, a child was born in the family. 
What would be the average age of the family12 years after the death of the oldest member? 
(in years) 5 सदस्रों के एक पररिार कीऔसतआयु 28 िर्ष थी। 4 साल बाद, पररिार के सबसे बडे सदस्की 60 
िर्ष कीआयु में मृतु्य हर गई। उसी वदन, पररिार में एक बचे्च का जन्म हुआ।सबसे िृि सदस्की मृतु्य के 12 िर्ष
बाद पररिार कीऔसतआयुक्या हरगी? (िर्ों में)
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(A) 12% (B)10% (C)20% (D)25% (E)None of these

Q.24 :- A shopkeeper marked the price of a book above 60% of its cost price and gives two 
successive discounts of x%, he still makes a profit of 15.6%. Find the value of x.

एक दुकानदार एक पुस्तकका मूल्य उसके क्रय मूल्य के 60% से अविकअोंवकतकरता है और
x% की दर क्रमागत छूि देता है, वफर भी उसे 15.6% का लाभ हरता है। एक्सका मान ज्ञात करें।
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(A) 25.8 (B) 25.1 (C)26.3 (D)25.5 (E) None of these

Q.25 :- Raman can do a piece of work in 45 days and Anju can do same work in 75 days. 
After working together for 12 days, Anju stop working. How many days Raman will take to 
complete the work that is left?
रमन एककाम कर 45 वदनर ों में कर सकता है और अोंजू उसी कामकर 75 वदनर ों में कर सकती है।
12 वदनर ों तक एकसाथकाम करने के बाद अोंजू ने काम करना बोंद कर वदया। रमन बचे हुए काम
कर पूरा करने में वकतने वदन लेगा?

http://www.mahendras.org/


1FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

Class Time :- 9:00 AM

THANKS

http://www.mahendras.org/

